
MOTORRENS, S.L. Pol. Ind. Mas de les Ànimes C / Apel·les Mestres, 36-38 43206 - REUS - SPAIN
Tel. (34) 977 32 81 05 Fax (34) 977 32 65 52

Mail: motorrens@rostor.com

www.rostor.com

3150RA02 - 150 HP
570 bar - 94 l/min

3150RB02 - 50 HP
60 bar - 322 l/min

3150AI - 150 HP
320 bar - 132 l/min

3150A02 - 150 HP
750 bar - 73 l/min

3150RA02 - 150 HP
320 bar - 168 l/min

With: Pressure regulating valve BN,
safety valve, gauges and nipples

ROSTOR 3150 A01 BN

ROSTOR 3150 A02
With: Pressure regulating valve A02

ROSTOR 3150 B C
With: Pressure regulating valve C

ROSTOR 3150 B02 B
With: Pressure regulating valve B

Placa de
características

ENTRADA
2" BSP

Ø22

272

Número de fabricación
Manufactured number

Mínimo necessario para
desmontar la culata

4
0
8

1001

SALIDA 1" (3/4") BSP

1
4

Ø
10

654

Eje / Shaft A Eje / Shaft B

B

M
ín

im
o

 n
e

c
e

s
a

ri
o

 p
a

ra
 d

e
s
m

o
n

ta
r

A

91

M16x2

Ø
5
0
 k

6

40

38

Ø
3
5
 k

6

M12x1,75

38

1
0

Ø106

652

2
8
6

1
8
3 2
9

637

794 15

145

555335

270 DRAINAGE 1/2" BSP

4
5
6

11
2
,5

199 267

377

RETORNO
1 1/4" BSP

e
l 
re

g
u

la
d

o
r 

d
e

 p
re

s
ió

n

2
0
7

2
4
8

5
8
6 7
2
2

754

40576

202,5 202,5

xxxxx

591
259,5 319,5

392

346 146,586,5

5
8

0

5
1

0 3
0

0
2

1
0

3
5

3
5

7
0

7
0

100 300

400

200

Mínimo necessario para
desmontar la culata

SALIDA
1/2" BSP
(M22x1.5)

Número de
fabricaciónPlaca de

características

987

216

4
0
8

277

180

3
0
0

2
1
0

3
5

3
5

7
0

7
0

AB

180

360

691

431208929 50

5
8
0

5
1
0

5
1

8

3
0

2

1
8

6

225

433

4
7

4

ENTRADA
2 1/2" BSP5

3

SALIDA 1" BSP
(3/4" BSP)

RETORNO 1 1/4" BSP

5
6

8

2
8
6

1
8
3

2
9

335 560

640 125

775

DRAINAGE 1/2" BSP

B A

SALIDA
1/2" BSP
(M22x1.5)

Número de
fabricaciónPlaca de

características

3
0
0

2
1
0

3
5

3
5

7
0

7
0

180

5
8
0

5
1
0

180

360

730

28585

258

405

2
4

8

5
3

8

195

4
2

0

ENTRADA
2 1/2" BSP9

1

RETORNO
1 1/4" BSP

1
7

8

640 151

801

Mínimo necessario para
desmontar la culata

4
0
8

277

988

2
8
6

1
8
3

2
9

335 549

DRAINAGE 1/2" BSP

SALIDA
1" BSP

Número de
fabricación

Placa de
características

3
0
0

2
1
0

3
5

3
5

7
0

7
0

5
8
0

5
1
0

173

216

4
7
0

ENTRADA
2 1/2" BSP8

0

RETORNO
1 BSP 2

0
0

277

Mínimo necessario para
desmontar la culata

4
0
8

987

DRANAGE 1/2" BSP

AB

173

345 367

797

85

250

373

2
4
1

4
8
5

2
8
6

1
8
3

2
9

335 546

797

640 147

3150L Series 3 plungers 150 HP (110 Kw)

ROSTOR 3150L LAD3N

Input shaft to left (I) or right viewable from the head.

Auxiliary P.T.O. shaft  on opposite side.

Internal gear box with reduction 2,963 in 3150 body type.
Reduction 3,652 in 3150R type.

Internal oil pressure lubrication.
Carter 3150 E / 3150R E.

Stroke: 95 mm.

Ceramic plungers.

Very high pressure head L type, inline valves,
optimal pressure resistant.

Internal parts in contact with the liquid made of
resistant corrosion materials.

Accessories, pressure regulator valve, safety valve, manometer, outlet nipples.

26

30

24

1500

1800

1500

2,963

3,652

3,652

2,963

3,652

3,652

2,963

3,652

3,652

2,963

3,652

3,652

2,963

3,652

3,652

20
506

493

411

22

H
E

A
D

  
L

75/55 100/75 125/90 150/110

43

41

35

650

680

800

870

910

1070

1090

1140

1250

1250

1250

-

506

493

411 *

52

50

42

540

550

665

720

750

890

900

940

1000

1000

1000

-

506

493

411 *

62

60

50

450

465

555

605

620

750

750

780

900

900

900

-

506

493

411 *

73

71

59

385

395

475

515

530

635

640

660

750

750

750

-

506

493

411 *

97

94

78

290

300

355

390

400

475

480

500

570

570

570

-

*

*

*

*

*

*

*

*

*

*

*

1500

1800

1500

1500

1800

1500

1500

1800

1500

1500

1800

1500

1500

1800

1500

2,963

3,652

3,652

2,963

3,652

3,652

16
506

493

411

18

28

26

22

1020

1050

1250*

1250*

1250*

-

-

-

-

-

-

-

506

493

411

35

34

28

805

830

995

1075

1100

1250*

1250*

1250*

-

1500

1800

1500

-

-

-

With: Pressure regulator valve LAD3N,
safety valve and manometer

ROSTOR 3150L LDA3N

To obtain this pressure is needed less power than  
indicated.

Crankshaft speed to 413 r.p.m. or inferior for intensive 
use, the rest intermittent use.

Weight: 335 Kg

*

Technical data

Plunger
(mm) Reduction

Crank
shaft

(r.p.m.)
Q

(l/min)
Shaft

(r.p.m.)

Motor power (HP / Kw)

Working pressure (bar)

EJE B EJE A
38

40

M12x1,75

Ø
35

 k
6 38

10

Ø1
06

14

54

Ø1
06

91

100
M16x2

Ø
50

 k
6

M
ín
im
o 

ne
ce

ss
ar

io
 p

ar
a

 d
es

m
on

ta
r 
la
 c
ul
at

a

SALIDA

23
1

61
5 79

0

24
3

11
9

ENTRADA

Mínimo necessario para desmontar la culata

233

4
08

472

28
6

18
3

335
277

627
784

985

201

29

DRENAJE
1/2" BSP

27

B

587
263 316

392
346 14686

Ø2
2

596

SALIDA

Nº Fabricación

21
0

30
0

51
0

35

58
0

35

70
70

Placa de características

191 191
25 382 189

100

            Aleco S.r.l. via Candiani, 27/a - 33170 Pordenone / Italy 
phone +39 0434 29900 fax +39 0434 209740 info@aleco.it  www.aleco.it

HIGH PRESSURE PUMPS



3150L Series 3 plungers 150 HP (110 Kw)

3150L - 150 HP
1.250 bar - 42 l/min

3150E L26 - 150 HP
750 bar - 73 l/min

RR

EQUIPMENT

MOTORS

Equipment manufactured by hydraulic, electric or diesel motor.

COUPLINGS

Direct coupling between motor and pump, sometimes coupled by pulleys and belts if the job requires it.

FRAME

Stationary in fixed installations.

Small wheeled cart for displacement on paved surfaces in factories.

Pneumatic wheeled cart. They allow the irregular ground displacement.

Standardised trailer for driving on the roads.

OTHER ACCESSORIES

Polyester or stainless steel tank. The inlet water is closed by a float valve, pneumatic valve or 

electrovalve with level probe.

The tank is recommended because the pressure regulator bypass is connected to the tank. The 

bypass water goes to the tank and the equipment doesn't leak water.

Several filter types depending equipment and work can be mounted.

Hose reels: Manual crank, pneumatic, electric D.C. or hydraulic motors.

High pressure hoses, lances, pistols, foot valves, etc... In the accessories section a great quantity of 

tools are indicated. 

Electrical motors Diesel motors

■

■

■

■

■

■

■

■

■

■

■

MOTORRENS, S.L. Pol. Ind. Mas de les Ànimes C / Apel·les Mestres, 36-38 43206 - REUS - SPAIN
Tel. (34) 977 32 81 05 Fax (34) 977 32 65 52

Mail: motorrens@rostor.com

www.rostor.com

            Aleco S.r.l. via Candiani, 27/a - 33170 Pordenone / Italy 
phone +39 0434 29900 fax +39 0434 209740 info@aleco.it  www.aleco.it

HIGH PRESSURE PUMPS


	Página 15
	Página 16

